Parts List

1/4-20 NUTSERT CENTER HOLE

ITEM

QTY

DESCRIPTION

BOTH BASE STAND END WELDMENTS

WELDMENT, NU-813/819 (S-20) BASE STAND END 36"

NU-813/819-600 (S-20) BASESTAND CROSS BRACE

Lateral Brace

Nutsert 1/4-20

1/2-13 2-1/2" Leg Leveler

Bolt G8 3/8-16 X 3 Nickel

Washer 3/8 SAE Nickel

Lock Washer 3/8 Internal Tooth SST

Bolt G2 1/4-20 X 2-1/2 SST

Acorn Nut 1/4-20 (Low Crown) SST

Tlole|le|N|loja|slw|N|=

OIBR|IBRINININ|IAININ[=2(N

Lock Washer 1/4 Internal Tooth SST

-
N

-
o

Washer 1/4 SST

-
w

N

Bolt G2 1/4-20 X 3/4 SST

REV

ECO

DESCRIPTION

DATE DFTM | CHKD

000925

RELEASED

1/31/2022 RN DF

PROPRIETARY
THE INFORMATION CONTAINED HEREIN IS THE EXCLUSIVE PROPERTY OF
NUAIRE INC. AND IS NOT TO BE DIVULGED OR USED IN ANY MANNER
WITHOUT THE EXPRESS WRITTEN PERMISSION OF NUAIRE INC.

DATE | 1/31/2022 |TITLE
DFTM RN NU-800-127 BASESTAND ASSEMBLY
CHKD DF

UNLESS OTHERWISE MATERlAL AS NOTED

RN neEs o [ PART

-TOLERANCES- |NUMBER CD-000136 A

DECIMALS £.032 | PROJECT

ANGLES £ 2 NUMBER SHEET 1 OF 1




